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Jezyk katu (Wietnam)

1. gap ‘tocut’ 5. ganap  'scissors’

2. juut  ‘torb’ 6. januut  ‘cloth’

3. panh ‘to shoot’ 7. pananh ‘crossbow’

4. pith ‘“to sweep’ 8. pamth  ‘broom’

What morphological process is illustrated in these data?

Describe the conceptual category that distinguishes the words in the
second column from the corresponding words in the first column.

Jezyk hebrajski

Adapted from Merrifield et al. 1987, problem #20

|. nahal ‘inherit’ 6. hinhil  ‘bequeath’
2. gara? ‘read’ 7. higri?  ‘make read’
3. taraf  ‘hire’ 8. hitrif  ‘feed’

4. ragad ‘dance’ 9. — -

5. Jatal ‘borrow’ 10, hif?il  ‘lend’

Write an explicit rule that will derive the words in the right-hand
column from the words in the left-hand column.

Jezyk samoanski

Note: In this exercise the symbol ? represents a glottal plosive, which is an
important consonant in Samoan.

oW >

1. mate ‘he dies’ 8. mamate ‘they die’

2. nofo ‘he stays’ 9. nonofo ‘they stay’

3. galue *he works’ 10. galulue ‘they work’

4. tanu ‘he buries’ 1. tatanu ‘they bury’

5. alofa ‘he loves’ 12. alolofa ‘they love'

6. tatoto  ‘he lies’ 13. a?o?oto ‘they lie’

7. atama?i ‘he is intelligent’ 14. atamama?i ‘they are intelligent’

What morphological process is illustrated in these data?

Describe the rule as explicitly as you can.

If *he is strong’ is malosi, how would you say ‘they are strong’ in
Samoan?



